



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} =$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} =$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{3} =$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{3} =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$\left(-\frac{1}{6}\right)^3 + \frac{1}{2} = \frac{107}{216}$$

$$\left(-\frac{1}{5}\right)^0 - \left(-\frac{3}{5}\right) = \frac{8}{5} = 1\frac{3}{5}$$

$$\left(\frac{1}{5}\right)^3 - \left(-\frac{3}{5}\right) = \frac{76}{125}$$

$$\left(\frac{3}{4}\right)^2 - \frac{3}{5} = \left(-\frac{3}{80}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{3}{20}\right)$$

$$\left(-\frac{2}{5}\right)^2 - \frac{3}{5} = \left(-\frac{11}{25}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{1}{5}\right) + \frac{1}{2} = \frac{3}{10}$$

$$\left(-\frac{1}{3}\right)^2 - \left(-\frac{1}{5}\right) = \frac{14}{45}$$

$$\left(\frac{3}{5}\right)^3 - \frac{1}{3} = \left(-\frac{44}{375}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{4} = 0$$

$$\left(\frac{1}{6}\right)^3 - \frac{1}{6} = \left(-\frac{35}{216}\right)$$

$$\left(-\frac{1}{6}\right)^3 - \left(-\frac{1}{5}\right) = \frac{211}{1080}$$

$$\left(-\frac{2}{5}\right)^3 + \frac{1}{2} = \frac{109}{250}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$

$$\left(\frac{3}{4}\right)^3 - \frac{1}{3} = \frac{17}{192}$$

$$\left(-\frac{1}{2}\right)^3 - \frac{1}{6} = \left(-\frac{7}{24}\right)$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{25}{54}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{187}{320}$$

$$\left(-\frac{3}{4}\right)^2 - \frac{1}{3} = \frac{11}{48}$$